
1. Using	
  Theorem	
  1	
  with	
  t	
  =	
  1/10	
  we	
  see	
  that	
  C	
  =	
  (1-­‐t)	
  A	
  +	
  t	
  B	
  
2. Using	
  the	
  rules	
  we	
  get	
  a	
  shape	
  that	
  looks	
  like	
  this!	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
So.	
  iii	
  is	
  true	
  because	
  we	
  have	
  a	
  four	
  sided	
  shape	
  where	
  the	
  opposite	
  sides	
  are	
  
the	
  same	
  length	
  and	
  the	
  interior	
  angles	
  are	
  all	
  90	
  degrees	
  deduced	
  from	
  the	
  
orthogonality	
  of	
  BA	
  to	
  CA	
  and	
  AB	
  to	
  DB.	
  

3. 𝑁 = !!!!!!!
!

,𝑀! =
!!!
!
,𝑀! =

!!!
!
	
  

𝑇𝑜  𝑠ℎ𝑜𝑤  𝑡ℎ𝑎𝑡     𝑁𝑀! = 𝑁𝑀!     𝑤𝑒!𝑙𝑙𝑠ℎ𝑜𝑤  𝑡ℎ𝑎𝑡   𝑁 −𝑀!
! = 𝑁 −𝑀!

!	
  
	
  

𝑁 −𝑀!
! = 𝑁 −𝑀!

!	
  
𝐴 + 𝐵 + 𝐶 + 𝐷

4 −   
𝐵 + 𝐶
2 =

𝐴 + 𝐵 + 𝐶 + 𝐷
4 −

𝐴 + 𝐶
2 	
  

𝐴 − 𝐵 − 𝐶 + 𝐷
4

!

=
−𝐴 + 𝐵 − 𝐶 + 𝐷

4

!

	
  
𝐴! + 𝐵! + 𝐶! + 𝐷! − 2𝐴𝐵− 2𝐴𝐶 + 2𝐴𝐷 + 2𝐵𝐶 − 2𝐵𝐷 − 2𝐶𝐷 =	
  
𝐴! + 𝐵! + 𝐶! + 𝐷! − 2𝐴𝐵 + 2𝐴𝐶 − 2𝐴𝐷 − 2𝐵𝐶 + 2𝐵𝐷 − 2𝐶𝐷	
  

From	
  this	
  we	
  get	
  
𝐴𝐶 − 𝐴𝐷 − 𝐵𝐶 + 𝐵𝐷 = 0	
  
𝐴 𝐶 − 𝐷 − 𝐵 𝐶 − 𝐷 = 0	
  

𝐴 − 𝐵 𝐶 − 𝐷 = 0	
  
We	
  know	
  that	
  𝐵𝐴	
  is	
  perpendicular	
  to	
  𝐷𝐶.	
  	
  	
  This	
  means	
  that	
  the	
  last	
  equation	
  
above	
  is	
  true.	
  	
  Thus,	
   𝑁 −𝑀!

! = 𝑁 −𝑀!
!  and	
   𝑁𝑀! = 𝑁𝑀! 	
  can	
  be	
  shown	
  

by	
  reversing	
  the	
  steps	
  above.	
  
	
  

4. 	
  
• We	
  first	
  explain	
  why	
  𝑘! ≠ 1.	
  If	
  𝑘! = 1	
  then	
  the	
  vectors	
  AB	
  and	
  A’B’	
  would	
  be	
  

equal	
  so	
  the	
  lines	
  AB	
  and	
  A’B’	
  would	
  not	
  intersect	
  at	
  P	
  giving	
  a	
  contradiction.	
  
• 𝑡 = −𝑘!/(1− 𝑘!)	
  
• 𝑘!   − 1 𝑅 =   𝑘!𝐶 − 𝐴	
  
• 𝑘! − 𝑘! = 0⟶   𝑘! = 𝑘!	
  
• 1− 𝑘! 𝑃 + 𝑘! − 1 𝑅 =   𝑘!𝐶 − 𝑘!𝐵	
  
• 1− 𝑘! ∗ 𝑃 − 𝑅 =   𝑘! ∗ 𝐶 − 𝐵 	
  
• We	
  deduce	
  that	
  the	
  vector	
  RP	
  and	
  the	
  vector	
  BC	
  are	
  parallel.	
  Hence,	
  lines	
  PR	
  

and	
  BC	
  are	
  parallel,	
  completing	
  the	
  proof.	
  
	
  
	
  

A	
  

B	
   D

C
(𝐴 − 𝐵)! = (𝐶 − 𝐷)! → |𝐵𝐴| = |𝐷𝐶|  	
  
(𝐴 − 𝐶)! = (𝐵 − 𝐷)! ⟶    |𝐶𝐴| = |𝐷𝐵|	
  

(𝐴 − 𝐵)(𝐴 − 𝐶) = 0⟶ 𝐵𝐴  𝑖𝑠  𝑝𝑒𝑟𝑝𝑒𝑛𝑑𝑖𝑐𝑢𝑙𝑎𝑟  𝑡𝑜  𝐶𝐴  	
  
(𝐵 − 𝐴)(𝐵 − 𝐷) = 0 →   𝐴𝐵  𝑖𝑠  𝑝𝑒𝑟𝑝𝑒𝑛𝑑𝑖𝑐𝑢𝑙𝑎𝑟  𝑡𝑜  𝐷𝐵	
  



	
  
5. 𝑓 = 𝑅!,(!,!)𝑇(!,!!)𝑅 !

! ,(!,!)𝑅!,(!,!)	
  

	
  
a)	
  	
  
	
  
	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

𝑓 2,2 = (2,2)	
  
b)	
  𝑓 = 𝑅 !

! , !,!   𝑓𝑟𝑜𝑚  𝑢𝑠𝑖𝑛𝑔  𝑇ℎ𝑒𝑜𝑟𝑒𝑚  4	
  

c)	
  Calculate	
  the	
  value	
  of	
  (2,-­‐2)	
  from	
  b.	
  
𝑓 2,−2 = 6,2   	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
6. 	
  

a. 𝑓 𝐵 = 𝐸	
  
b. P	
  =	
  H.	
  By	
  theorem	
  4	
  we	
  know	
  that	
  𝑓 = 𝑅!,!	
  and	
  we	
  also	
  know	
  that	
  

𝑓 𝐵 = 𝐸	
  so	
  𝑓 𝐵 = 𝑅!,! 𝐵 = 𝐸	
  for	
  some	
  point	
  P.	
  Looking	
  at	
  the	
  picture	
  
we	
  see	
  that	
  P	
  =	
  H	
  taking	
  B	
  through	
  a	
  rotation	
  of	
  𝜋	
  around	
  H	
  gets	
  us	
  to	
  E	
  as	
  
desired.	
  



c. Note	
  that	
  𝑓 𝐴 =   𝑅!
!,!
𝑅!
!,!
𝑅!
!,!

𝐴 = 𝑅!
!,!
𝑅!
!,!

𝐴 =   𝑅!
!,!

𝐹 = 𝐺.  Also,	
  we	
  
see	
  that	
  𝑓 𝐴   𝑖𝑠  𝑅!,!(𝐴)	
  and	
  it	
  follows	
  that	
  H	
  is	
  on	
  line	
  AG	
  and	
   𝐴𝐻 =
𝐻𝐺 .	
  	
  Hence,	
  H	
  is	
  the	
  midpoint	
  of	
  AG.	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  


